A BDIAGRAM TOR  THE

TOS NV VE O - v iTe He Ab
\DQU%LE OF Y HE SREeToL
VUVTA YW =+A



CXM(\YQR_Z

Nc {%Q\R /QLN@%



TBGA) = sy (W) -cK)

—



T%(\/\\: \)\j(,\/\)—-(__(\A\ = C’\_?D - A



S
2

YR(K)=4 -4 =0



L<‘-.%d<\@w
ek ¥ v
R = O °

w(v«) c (K) Twisks









- Ve

/

T%(‘/\\ = O = Y &( Kt\)\ - O(T—Q).Lt ,/<o‘ +los oy
%(V\,KO\S:O

« ‘@ \






- F

We wout €& Simdd TBW).

1)

Wb (1K)
L.



)
K
?
N

z\x

E; }
~ N



L><</
XSBA
s

>

oo (L) = Xk (%, «,)



E /QJMJF\A,KQ)

<



L><</
XSBA
s

>

oo (L) = /QJMJF\A,KQ)

+
w W)



L><</
XSBA
s

>

oo (L) = /@L&\A,\(g)

4
w W) N
wo (e )



O
&/

T%(L) - W(LB - ( L) =



TB(L) = wl(L) -cll)=

—_ / \ l

T w ) e k) L 2kt we) - () m@
12 -A



L
€o

T%(L) - W(LB - ( L) =
— O T, 'B

- () + ool ) o /-, A\ - (el +(K
b ) (“ﬁ\/Q c/

1) p T

= 4









